ENATH AOIIZTIKH OAYMINIAAA 2013
ENINEAO 2

INSTRUCTIONS TO CANDIDATES
OAHIIEZ NMPOZ TOYZ AIATQNIZOMENOYZ

For each question, choose and circle the correct answer A, B, C, or D.
MNa kabe epwTnoN, ENIAEETE KAl KUKA®WOTE TN OWOTH anavrnon A, B, ' i A.

1. The annual insurance premium for Thermosol Ltd for the period 1 July 2012 to 30 June
2013 is €6.600 which is 10% more than the previous year. Insurance premiums are paid on
1 July.

The income statement/Profit and loss charge for insurance for the year ended 31
December 2012 is

A.  €6.000
B. €6.300
C. €6.600
D. €6.270

1. To etholo aoc@aAioTpo TnG eTaipeiac Thermosol ATO yia Tnv nepiodo 1 IouAiou 2012 peExpl TNV
30 Iouviou 2013 €ival €6.600 nou ival 10% nepioodTEPo and Tov nponyoUpevo xpovo. To
€TNCI0 aoPAAioTpo nAnpwvetal TNV I IouAiou kaGBe Xpovou.

O Aoyapiacgpog KepdoZnuiov/AoyapiacHOG CUVOAIK®V 003V yid TO £TOG Nou £éAn&e
31 AekepBpiou 2012 Ba XpewOei pE TO NOCO TWV

A. €6.000
B. €6.300
r. €6.600
A, €6.270

2. Which of the following will NOT be taken into account in determining the cost of
finished goods for a manufacturing company?

(I) Carriage inwards

(II) Carriage outwards

(IIT) Depreciation of delivery vehicles

(IV) Closing Inventory/Stock of finished goods
(V) Production line wages

A.  (ID),(II)

B (I), (1I1),(1V)
C.  (ID),(IID),(IV)
D. (D), (II1), (V)
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2. Ta anod Ta nio kKat® AEN 6a An@OoUv unoyn oTov npocdiopICHO TOU KOOTOUG TWV
TEAIKOV NPOIOVTWV HIAG HETAMNOINTIKAG ETAIPEIAC.

(I) MeTagpopika Ayopwv.

(I1) MeTagopika MNwAfoEwV.

(III) AnooBeonc oxnUaTwyv dIAVOMNG.

(IV) TeAika anoBepaTa TEAIKWV NMPoioVTWY.
(V) MiobBoi napaywyng.

A, (ID), (III)

B. (D), (III), (IV)
r. (1), (III),(1V)
A (D), (IID), (V)

3. A company bought a machine on 31 August 2008 for €22.000. It had an expected life of
seven years and an estimated residual value of €1.000. On 30 June 2012 the machine was
sold for €9.000. The company's year-end is 31 December. Its accounting policy is to charge
depreciation on a monthly basis using the straight line method.

The loss on disposal of the machine which will appear in the income statement for
the year ended 31 December 2012 is

A.  €1.000
B. €1.500
C. €3.500
D. €5.800

3. Mia eTaipeia ayopaoe €va unxavnua Tnv 31 AuyouoTtou Tou 2008 yia €22.000. To pynxavnua
gixe w@ENMPN {wn enTa Xpovwv Kal unoAgipyuaTikn a&ia €1.000. Tnv 30 Iouviou 2012 TO
uNnxavnua nouAndnke yia €9.000. H etaipsia €Toigalel OIKOVOUIKEG KaTtaoTacelic Tnv 31
AekepBpiou kdbe €Touc. H mMOAITIKA TnNG €Taipsiag €ival va Xpewvel anooBeon €ni pnviaiag
Baong oUp@Wva Pe Tn oTabepn peBodoO.

H Znuia andé Tnv n®Anon Tou pNXaviHartog nou 6a nNAapouciaocTEi 0TV KATAoTAoN
kKePSO{NHI®OV/AoyapiacHO OUVOAIK®V £000wv yia To £€1oG¢ nou £€An§s tnv 31
AekepBpiou 2012 sivai

A.  €1.000
B. €1.500
r. €3.500
A, €5.800

q. Expenses prepaid are shown under

Current liabilities
Non current assets
Non current liabilities
Current Assets.

onNOw>

4. Ta nponAnpwtéa £50da napouoiadovral KATw ano Tnv Karnyopia.

TpEXOUOEC YNOXPEWTEIG

Mn KUKAOQOPOUV EVEPYNTIKO
MakponpOBETUESG UNOXPEWTEIG
KukAo@opoUv evepynTIKO.

(> e i
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5. Alster Ltd received a loan on 1 July 2012 for €100.000 repayable in equal quarterly
instalments of €6.250 each, starting on the 30 September 2012. During 2012 all
instalments were duly paid. The company’s year-end is 31 December

The statement of financial position for the year ending 31 December 2012 will show the loan
under current and non-current liabilities as follows:

Current liabilities Non-Current liabilities
AL - €87.500
B. €25.000 €62.500
C. €g7.500 mmee-
D. €12.500 €87.500

5. H AAotep ATO Tnv 1 IouAiou 2012 nnpe ddaveio Uwoug €100.000 anonAnpwTeo HE i0eG
Tpignvaieg ddoeic Uywoug € 6.250 n kabeuid, apxodévng TNV 30 ZenteuBpiou 2012. Katd Tn
diapkela Tou 2012 ol o@elAOpeVEG D00eIC NAnpwOnkav gEolokAnpou. H eTaipeia sToipalel
AoyapiaopoUcg Tnv 31 AekepBpiou.

H kataoraon olkovopikAG B€onc Tng ETaipeiac yia To €1o¢ nou €Ange oTig 31 AekeuBpiou
2012 6a napouaialel TIC dOCEIC TOoU OAVEIOU WG HAKPOMNPOBECUEC Kal TPEXOUOEG WG

akoAoUBwg:
TPEXOUOEG UNOXPEMOEIG Mn-TPEXOUOEG UNOXPEMOEIG
AL - €87.500
B. €25.000 €62.500
r. €g7.500  =meee-
A. €12.500 €87.500

6. Which of the following would be a DEBIT balance in the trial balance?

(I)  Purchases returns.

(II) Drawings.

(IIT) Accrued expenses.

(IV) Deposit for rent payable.
(V) Prepaid expenses.

A. (D). (II). (III), (IV).
B. (1), (IV), (V).

C. (ID), (1II), (1IV).
D

(I1), (1IV).

6. Molol anod Toug Nio KaGrtw AoyapiacHoug 8a €xouv XPEQZTIKO undAoino oto
100gUyI0.

(I) EmoTpo@Ec ayopwv.

(I1) AvaAnyelc.

(III) O@eiINOpeva £Eo0da.

(IV) NpokaTaBoAEg yia evoikia NAnpwTEQ.
(V) 'EEoda nponAnpwTéa.

(1), (I1), (III), (1V)
(I1), (1V), (V)

(II), (II1), (1IV),
(ID), (1V),

>ow
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7. During the year ending 31 December 2012 a manufacturing company had sales amounting
to €900.000 and a direct labour cost and production overheads of €450.000. Purchases of
raw material during the year amounted to €155.000 which increased the inventory of raw
materials held on the 1 January 2012 by €15.000. The stock take of finished goods carried
out on the 31 of December 2012 showed a decrease of €30.000 compared to last year.

The company’s gross profit for the year ending 31 December 2012 was:

A.  €280.000
B. €325.000
C. €620.000
D. €310.000

7. Karta tn didpkela Tou £Touc nou €An&e oTic 31 AekeuBpiou 2012, pia PeTANOINTIKA €TAlpEia
gixe nwAnosic Uwoucg €900.000 kal Gueco KOOTOG epyaciag kal £€€Eoda napaywyng €450.000.
O1 ayopec NpwTwV UAWV KaTta Tn dIdpKeld Tou €Touc aviABav os €155.000 nou av&noav Ta
anoBepaTa Twv NpWTWV UAWV MoU KATEixe n eTaipeia katd tTnv 1n Iavouapiou 2012 kaTta
€15.000. H kaTtaypa®pn TwV TEAIKOV NPOIOVTWV Mou npayuartonoinénke tTnv 31n AskepPpiou
2012 €dcie peimon TV TEAIKOV NpoiovTwv katd €30.000 oec oxéon HME TO TEAOC TOU
nponyoUUEVOU £TOUC.

To HIKTO k€PDOG TNG £TAIPEIAG YIa TO £T0G Nou £An&e oTig 31 AekeppBpiou 2012 Arav:

A. €280.000
B. €325.000
. €620.000
A. €310.000

8. A company's share capital consists of 200.000 25p equity shares all of which were
issued at a premium of 20%.

The company’s Statement of financial position/Balance sheet will show:

Share capital Share premium
A. €50.000 €40.000
B. €60.000 €10.000
C. €50.000 €10.000
D. €200.000 €40.000

8. To ueToxikd KePaAaio TnG €Taipeiac anoTeAeital and 200.000 peToxég Twv 25 ZevT n kabe
H1a ol ornoieg ekdoBnkav unép 1o ApTio KATa 20%.

H karaoraon 1nG OIKOVOHIKNAG 0€0nG/100A0YIOHOG TNG €TAIpEiag Oa deixvel:

MeTOX1KO KEPAAAio AnoOspaTikO UNép TO APTIO
A. €50.000 €40.000
B. €60.000 €10.000
r. €50.000 €10.000
A. €200.000 €40.000
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9. Sardalos plc purchased a machine for €15.000 on 1 January 2012. After incurring
transportation costs of €1.300 and spending €2.500 on installation, the machine broke
down incurring €600 for repairing. Depreciation is charged at 10% per annum.

At what carrying amount will the machine be shown in Sardalos pic's statement of
financial position at 31 December 2012?

A. €13.500
B. €14.670
C. €16.920
D. €18.800

9. H Sardalos plc ayopaoce pnxavnua afiac €15.000 tTnv 1 Iavouapiou 2012. MeTd nou
danavnénke nood €1.300 yia peragopd Tou kai €2.500 yia Tnv g€ykatacTaon Tou, TO
unxavnua napouciace BAAPn kal xpeidotnkav €600 yia emdiopbwon Tou. AnocBeon
unoAoyileTal eTnoia npog 10%.

Moia n Tpéxouoca a&ia Tou PNXaviHaToG OTIG OIKOVOMIKEG KATAOTAOEIG TNG Sardalos
plc oTig 31 AekepBpiou 20122

A. €13.500
B. €14.670
r. €16.920
A, €18.800

10. A company’s Profit and Loss/income statement for the year ended 31 December 2012
showed a net profit of €83.600. It was later found out that €18.000 paid for the purchase of
a motor van had been debited to the motor expenses account. It is the company’s policy to
depreciate motor vans at 25% annually on the straight line basis, with a full year’s charge
in the year of acquisition.

What would the net profit be after adjusting for this error?

A. €106.100
B. € 70.100
C. € 97.100
D. €101.600

10. H kataotaon Kepdolnuiwv/oUVoOAIK®V €00dwV yia To €To¢ nou £An&e oTic 31 AskeuBpiou
2012 napouciace kepdog €83.600. Merayeveotepa Olepdvel OTI noocd €18.000 nou
NANPWONKE yia ayopd AUTOKIVIATOU XPEWONKe oTo Aoyapliacpo yia £€Eoda oxnuatwv. Ta
oxNMaTa Tng €raipeiag anooBevovTtal oUUPWVA PE TNV oTabepr; HYEB0dO npoc 25% €TRAoIa HE
nAnpn €Thola eniBapuvaon To €T0G anoOKTNoNG Touc.

NMwg 0a diagopPwOei To kKABAPO kEPDoG HETA TNV 310pOwoN Tou AdBoug?

A. €106.100
B. € 70.100
r. € 97.100
A. €101.600
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11. A company receives rent from a large number of properties. The total amount received in
the year ended 30 April 2012 was €481.200.

The following were the amounts of rent in advance and in arrears at 30 April 2012 and

2011:
30 April 2012 30 April 2011
€ €
Rent received in advance 28.700 31.200
Rent in arrears (all subsequently received) 21.200 18.400

What amount of rental income should appear in the company’s income statement
for the year ended 30 April 2012?

A.  €486.500
B. €460.900
C. €501.500
D. €475.900

11. Etaipeia sionpdrtrel evoikia and peydAo apiBuod akiviTwv. To oUvoAo Twv €lonpd&ewv Tou
£€TOUG Nou £€An&e oTic 30 AnpiAiou 2012 nTav €481.200.

Ta nood TwV NPOKATABOAWV KAl TwV OPEINOUEVWY NMOowV KATd Tnv 30 AnpiAiou 2012 and

2011:
30 AnpiAiou 2012 30 AnpiAiou 2011
€ €
Mpoecionpa&eig 28.700 31.200
OpeINbpEVa €10NIPaKTEA EVOIKIA
(e1onpdxTnKav PNETAYEVEDTEPQ) 21.200 18.400

Moia €ivar Ta nood nou 6a napouocidalovrdal ®W¢ &£100dNHa and evoikia oTNV
KATaoTaon ouvoAIk®V 003wV TnG ETaipeiag oTig 30 AnpiAiou 2012?

A.  €486.500
B. €460.900
. €501.500
A,  €475.900

12. At 31 December 2011 a company’s allowance for receivables was €39.000. At 31 December
2012 trade receivables totalled €517.000. It was decided to write off debts totalling €37.000
and to adjust the allowance for receivables to the equivalent of 5% of the trade receivables
based on past events.

What figure should appear in the income statement for the year ended 31
December 2012 for receivables expense?

A. €61.000
B. €52.000
C. €22.000
D. €37.000
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12. Tnv 31 AskepBpiou 2011 n npdPBAeywn Tng ETaipeiag yia eMNoQAAeic XpeWOTEG avepXoTav aTo
nood Twv €39.000. Tnv 31 AcskeuBpiou 2012 oI EPMNOPIKOI XPEWOTEC aAVEPXOVTAV OF
€517.000. AnogaacioTnke 6nwc diaypa@ouv anaTthosic Uyoug €37.000 kal avanpoodpuUoaoTEi
N NPOBAEWnN Yia €NIOPAAEIC XPEWOTEC O 5% nNAvw OTIC €UNOPIKEC ANAITNOEIC KE Baon
YEYOVOTA TOU NapeABovTOC.

T1 nood Oa napouoidaleral WG £€§000 yia eNICPAAEIC XPEWOTEG OTNV KATAOCTAON
OUVOAIK®V £003wv ThV 31 AekelBpiou 2012?

A. €61.000
B. €52.000
. €22.000
A, €37.000

13. The total of the list of balances in Vanas’ payables ledger was €438.900 at 30 June 2012.
This balance did not agree with Vanas’ payables ledger control account balance. The
following errors were discovered:

(1) A contra entry of €980 was recorded in the payables ledger control account, but not in
the payables ledger.

(2) The total of the purchase returns daybook was undercast by €1.000.

(3) An invoice for €4.344 was posted to the supplier's account as €4.434.

What amount should Vana report in its statement of financial position for Accounts
payable at 30 June 2012?

A. €436.830
B. €438.010
C. €439.790
D. €437.830

13. To ouvoAo TnNG katdoTaong TV UnoAoinwv Tou KaBoAikoU NANPWTEWV TG etaipeiag Valley
oTig 30 Iouviou 2012 avepx6Tav oTo Nogo Twv €438.900. To Nocd auTd OeV CUNPWVOUTE HE
TO UMOAOINO TOU AoyaplagpoU NANPWTEWV TNG Talpeiac. Ta nio KaTw Aadn eEakpiBwdnkav:

(1) AiopBwTikr eyypaen €980 nou kartaxwpndnke oTo Aoyaplacud MANPWTEWV Jev
KaTaxwpnodnke oTo KABOAIKO NANPWTEWV.

(2) To oUvoAo Tou BiIBAiou enioTpoPwV Napouciacse abpoiaTikd AdbBog €1.000 AlyoTepa.

(3) TigoAOyIo yia €4.344 kaTaXwprOnke oTo Aoyapiacuo Tou npoundeuTr wg €4.434.

Mo16 €ival To 0pB6 Nocd NANPWTEWV OTNV KATAOTACN OIKOVOHIKNAG 0éong oTig 30
Iouviou 2012?

A. €436.830
B. €438.010
r €439.790
A €437.830
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14. Which TWO of the following costs should be included in valuing the inventories
of a manufacturing company?

(1) Carriage inwards

(2) Carriage outwards

(3) Depreciation of factory plant

(4) General administrative overheads

A 1and 4
B 1and 3
C 3 and 4
D 2and 3

14. Moia and Ta nio Karm nepIAAPBAvVOVTAl OTO KOOTOG TWV TEAIKOV NMPOIOVTWV HIAG
HETANOINTIKNAG ETAIPEIAG?

(1) MeTagopikd ayopwv

(2) MeTapopikd NWARCEWV
(3) AnooBeong epyooTaaciou
(4) Tevika £€oda diaxeipiong

A 1 kar 4
B 1 ka 3
r 3 ka4
A 2 ka3

15. Moka plc commenced trading on 1 January 2012 and had zero inventories at that date.
During 2012 made purchases of €455.000 of which €5,000 were returned as being faulty.
The company incured carriage inwards of €29.000, and carriage outwards of €25.000.
Closing inventories at 31 December 2012 are valued at €52.000.

In the income statement for the year ended 31 December 2012 the cost of sales

figure is:

A. €456.000
B. €427.000
C. €432.000
D. €531.000

15. H etaipeia Moka plc apxioe Tig eunopikeg TNG dpacTnploTnTeg TNV 1 Iavouapiou 2012 xwpig
va €xel anobepa eynopeupaTwy. KaTta tn didpkela Tou 2012 ixe ayopég a&iag €455.000, ano
TIC onoiec enéoTpeye €5,000 w¢ eAaTTWHATIKG gunopeluaTad. H eTaipeia €ixe PeTagopika
ayopwv €29.000, kal peTaQopika NwARCEwv €25.000. Ta TeAlkd anoBgpaTta TnG €Taipeiag
oTIG 31 AekepBpiou 2012 anoTignBnkav og €52.000.

To KOOTOG NWANCEWV OTNV KATACTACGN CUVOAIK®OV €003V yia To £€ToG 2012 aviABe

OE:

A. €456.000
B. €427.000
r. €432.000
A. €531.000
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16. The issued share capital of Rata, a limited liability company, is as follows:

€
Ordinary shares of 20 cent each 1.000.000
8% Preference shares of 50cent each 500.000

In the year ended 31 October 2012, the company has paid the preference dividend for the
year and an interim dividend of 4cent per ordinary share. A final ordinary dividend of 30%
was proposed, before the reporting date.

What is the total amount of dividends relating to the year ended 31 October

20122

A €580.000
B €90.000
C €130.000
D €540.000

16. To peTOXIKO KeAAaio TNG €Talpeiac Rata, €Taipeia nepiopioyevng €ubUVNG €ival wg mnio

KATW:

€
ZUVnBeIg HETOXEG NPOG 20 OEVTG N KABE pia 1.000.000
8% NPOVOUIOUXEG METOXEC NPOG 50 oevTg n kaBe pia 500.000

MNa To €10G nou £€An&e 31 OkTwPpiou 2012 n eTaipeia NANPWOE TO WEPIOCUA MAVW OTIG
NMPOVOMIOUXEC METOXEC YIA TO €TOC KAl 4 OgvTC avd HETOXN WG €VOIAUECO MEPICHA YIA TIG
ouvnOeIg NETOXEG. TeAIkO pépiopa 30% éxel npoTabei NAvw OTIG OUVABEIC JETOXEC NPIV TNV
nuepounvia avagopdc.

Moio €ival To CUVOAIKO HEPIOHA Nou OXEeTI{eTal HE TO £€T0G Nou €An&e 31 OkTwPRpiou

2012;

A €580.000
B €90.000
r €130.000
A €540.000

17. Sanders plc issued 50.000 equity shares of 25p each at a premium of 50p per share. The
cash received was correctly recorded but the full amount was credited to the equity share
capital account.

Which of the following journals corrects this error?

Debit Share premium €25.000, Credit Share capital €25.000
Debit Share capital €25.000, Credit Share premium €25.000
Debit Share capital €37.500, Credit Share premium €37.500
Debit Share capital €25.000, Credit Cash at bank €25.000

oOOow»

17. H ecraipeia Sanders plc €kdooe 50.000 peTOXEC Twv 25p n kaBeuid unép To aptio. H
unepTignon kabopioTnke og 50p Tn peToxn. '‘OAo0 TO NMOGO TWV EI0NPAEEWV MIOTWONKE OTO
Aoyaplaopo PeTOXIKOU KEPAAaiou.

Moia gival n cmoTn eyypa®pn 510p0mwong Tou Addoug?

Xpéwaon AnoBepaTikoU ungp To apTio €25.000, MioTwon MeToxikoU kegaAaiou €25.000
Xpewon MeTtoyikoU kepaAiaiou €25.000, MNMioTwon AnoBeuaTikoU unép To apTio €25.000
Xpéwaon MeToxikoU Ke@aAaiou €37.500, MioTwon AnoBeguaTtikoU unép To aptio €37.500
Xpewaon MeToxikoU kepalaiou €25.000, MioTwon MeTpnTwyv otnv Tpansla €25.000

>owp
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18. The following balances have been extracted from Saracen Ltd's trial balance at 31
December 2012:

Debit Credit
€ €
Retained profits at 1 January 2012 4.695.600
10% debentures issued in 2005 1.300.000
Debenture interest paid 65.000

The operating losses for the year ended 31 December 2012 are €330.000.

What is the figure for retained profits in Saracen Ltd's balance sheet as at the
year-end 31 December 2012?

A. €4.300.600
B. €4.235.600
C. €4.895.600
D €4.960.600

18. Ta mo kdtw undAoina eival anoonacpéva and To 10oluylo Tng Saracen Ltd otic 31
AekepBpiou 2012:

Xpewon MioTwon
€ €
Zuoowpeupeva kEpdn 1 Iavouapiou 2012 4.695.600
10% opoAoylako davelo €kdoong 2005 1.300.000
Tokol ogoAoylakou daveiou nou NANpwOnkav 65.000

H Aeitoupyikn ¢nuia yia To €106 nou €Ange oTig 31 AekepBpiou 2012 aviABe og €330.000

MoI0 TO N0CO TWV CUCCWPEUHEVOV KEPSMV OTNV KATAOTACGH OIKOVOHIKNAG O£0NG OTIG
31 AskepBpiou 2012?

A. €4.300.600
B. €4.235.600
. €4.895.600
A.  €4.960.600

19. Alice and Vicky are in partnership, sharing profits and losses in the ratio 2:1. Their year-end
is 30 June.

On 1 January 2012 Cath joined the partnership and the new profit sharing ratio
became Alice 50%, Vicky 30% and Cath 20%.

The profit for the year ended 30 June 2012 was €520.000, after charging an expense of
€40.000 which related to the first 6 months of the year. The remainder of the profit accrued
evenly over the year.

What is Vicky’s total profit share for the year ended 30 June 20127

A. €173.333
B. €156.000
C. €164.666
D. €164.000

10| Page



19.

20.

20.

H AAikn kai Bikn €ival ouveétaipol, ge avaloyia enipepiopol Twv Kepdwv Kal {nuiwv 2:1. To
OIKOVOMIKO £TOC Anyel aTic 30 Iouviou.

Tnv 1 Iavouapiou 2012 n KaiTn Npoox®wpnos OTO CUVETAIPIOKO Kal n avaloyia enigepiopol
TwVv KEpOWV €yive AAikn 50% , Bikn 30% kai Kaitn 20%.

To k€pdo¢ Tou £TOUC nMou €Ange oTic 30 Iouviou 2012 fTav €520.000 petd TNV agaipeon
€€00wv €40.000 nou agopoucav TNV Mepiodo TwV MPpwWTWV &€& UNVWV TOU €TOUC. To
unoAoino Tou képdoug enipepileTal e€icou kaB'oAn Tn dIdpKeId TOU ETOUC.

Moio sival To Nnood Tou KEPSoug nou avaAoyei oTn Bikn yia To €10 nou €An&e oTIg
30 Iouviou 2012?

A,  €173.333
B. €156.000
. €164.666
A €164.000

Paul and Nicolas are in partnership together sharing profits equally. They invested €20.000
and €30.000 respectively in the business, although Paul later made a loan of €5.000 to the
business.

The loan is still outstanding. Interest is charged on capital and loans at 5% pa and is
credited to current accounts. The balances on the partners' current accounts at 1 April 2011
were €15.500 for Paul and €12.700 for Nicolas. The partnership made a profit of €32.000
for the year ending 31 March 2012, before accruing for any interest.

What is the balance on the partners' current accounts at 31 March 2012?

Paul Nicolas
€31.500 €28.700
€31.375 €28.825
€31.625 €28.825
€31.250 €28.950

oCnw>

O MavlAog kai o NikOAag e€ival ouveErtaipol nou enipepifovral €&icou Ta kEPdON. ‘Exouv
enevdloel €20.000 kar €30.000 avrioToixa, evw o MaUuAog HeTayevéoTepa €0wOE AKOUN
€5.000 wg davelo oTnVv enixeipnon.

To ddavelo dev £xel akOun €€o®AnBei. YnoAoyileTal TOKOC pe eniTOKIO 5% €TroId TOGO OTA
nood Tou kepaAaiou 600 Kal oTo dAVEIO KAl NIOTWVETAl OTOUG TPEXOUHEVOUG AOyapiaguoug.
Ta undAoina TwV TPEXOUMEVWV AOYdpldOP®V TWV OUVETAipwv Tnv 1 AnpiAiou 2011 nATav
€15.500 Tou MavuAou kair €12.700 Tou NikoAa. O ouveTalpiopdG NpaypaTonoinoe KEPOOG
€32.000 yia To £10C Nou €An&e oTic 31 MapTiou 2012, NpIv TOUG TOKOUG.

Molo €ival To unoAoINo TWV TPEXOUHEVMV AOYdpIaOH®V TWV CUVETAipwV oTIG 31
MapTiou 2012?

MauAog NikoAag
€31.500 €28.700
€31.375 €28.825
€31.625 €28.825
€31.250 €28.950

>R
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21.

21.

22,

22,

23.

The net assets of Walter's business decreased by €11.025 over the year to 31 October
2012.

During that year he had paid in additional capital of €14.000, drawn €875 of cash each
month and, on one occasion, taken goods costing €2.625 for his own use.

The loss made by the business for the year ended 31 October 2012 was
A. €10.150
B. €11.900
C. €21.525
D. €25.025

Ta kaBapd nepioucIaka oToIXEia TNG €niXeipnong Tou MNwpyou peiwdnkav kata €11.025 1o
£T0G nou €Ange Tnv 31 OkTwRpiou 2012.

Kata mn didpkela Tou idiou £Touc €iXe kaTtaBalel npocBeTa kepaAdia Uyoug €14.000, kal €ixe
avalfyeic €875 ot peTpnTA KABE prva Kal, O did NePINTwon, Afpe npoidovra and Tnv
£TAlpeia yia dIKNA Tou Xpnon KooToug €2.625.

H {nuid nou €ixe n enixeipnon yia To €10¢ nou €An&e oTig 31 OkTwRpiou 2012 ATav

A. €10.150
B. €11.900
.  €21.525
A, €25.025

Sayhan, Errol and Alev are in partnership, preparing financial statements as at 31 August
each year and sharing profits 4:3:1. Sayhan retired on 30 April 2012, and Errol and Alev
continued, sharing profits 3:1 respectively.

Goodwill as at 30 April 2012 (not to be retained in the accounts) was valued at €50.000.
The net entry to Errol's capital account to include and then eliminate goodwill is

A. Debit €6.250
B. Debit €18.750
C. Credit €6.250
D. Credit €18.750

01 =T1eNiog, MeTpoc kal ANEKOG €ival ouveTalpol Kal eroigdlouv Aoyapiaopouc 31 AuyouoTou
kdBe €Toug pe avaioyia kEpdoug 4:3:1. O ITéNIoc anoxwpnoe oTic 30 AnpiAiou 2012, kai ol
MNéTpoc kal AAEKOC ouvExioav Pe avaloyia 3:1 avTioToixa.
To noagd TN pAUNC kal neAateiag oTi¢ 30 AnpiAiou 2012 (nou dev avayvwpileTal ota BiBAia)
unoAoyioTnke oTo Nood Twv €50.000. H kaBapn eyypar avayvwpiong Kal JeTa diaypaeng
TNG GNAUNG Kal nehaTeiag oTo Aoyapiacud Tou METpou eival

A. Xpewon €6.250
B. Xpéwon €18.750
r. NioTwon €6.250
A. TMioTwon €18.750

Which TWO of the following could NOT be found in the financial statements of a
partnership?

Fixed asset
Share premium
Drawings
Dividends paid
Profit for the year

ubhwWwN =
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A. 1.2 and 3
B. 24and3
C. 2 and 4
D. 2only

23. [lloia AYO and T1a nio kaGtw AEN napoucidlovTdl OTIC OIKOVOMIKEC KATAOTACEIG €VOG
OUVETAIPIOUOU;

MNayia oToixeia evepynTikoU
AnoBeuaTiko UNEP TO ApPTIO
AvaAnyeig

MepiopyaTta nou nAnpwonkav
KEpdog yia To £€T0C

ubhwWN =

1,2 kal 3
2,4 kal 3
2 kal 4
2 Jyovo

B>

24. 1In the balance sheet of a limited company, patents are shown under the heading of

A. Long term liabilities/Non-current liabilities
B. Capital and reserves

C. Current liability

D. Intangible assets

24. >Tov 100AOYIOMO MIAGG €TAIpEiaG nepIOpIOPEVNG €uBUVNG, O Aoydpiaouog  dinAwuarta
€UpEeOITEXVIAC ey@avileTal KATW ano Tnv Karnyopia

A.  MakponpOBEOUEC UNOXPEWOTEIC
B. Ke@aAaio kal anoBeuaTika

. TpEXOUOEC UNOXPEWTEIG

A.  'Aula oToixeia evepynTikoU

25. Your firm bought a machine for €10.000 on 1 January 2009, which had an expected useful
life of five years and an expected residual value of €1.000. The asset was to be depreciated
on the straight-line basis. The firm's policy is to charge FULL year depreciation in the year of
purchase and NO depreciation in the year of disposal. On 31 December 2012, the machine
was sold for €600.

What is the loss on disposal for the year 20127

A.  €3.400
B. € 400
C. €1.000
D. €4.000

25. H enixeipnon oou ayopaoce €va pynxavnua a&iag €10.000 Tnv 1 Iavouapiou 2009 To onoio €ixe
avapevopevn w@eAn {wr nevTe Xpovia kal unoAsiyuaTikr a&ia €1.000. H noAImkn TNnG
€Taipeiag eival va unoAoyilel anooBeon yia oAOKANPoO To £TOC OTO €TOG AYOopdg Kal MNdEv
andoBeon oTo £€10¢ d1aBeonc. Tnv 31 AskeuBpiou 2012 To pnxavnua nwAndnke yia €600.

Moia €ival n nuid anod TV €KNoiNCn ToU YNXavnuaTog To £1o¢ 2012;

A.  €3.400
B. € 400
. €1.000
A, €4.000
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